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—REFFHEFEORNE
mA
F#H IE AT fHIETR % A E2E
E (REEZEX1E) 105,904,000% 1/2 (&)= 52, 952, 000 E (fRIE#E4B) 103,395,801 x1/2 (G 1BH)= 51,697, 000
(REZIRHZFZR) 4,000x1/2(E1BFE)= 2,000 (REAFIRHFR]) 3,132,494 x1/2(&18%)= 1,566, 000
(EERTER) x1/2(GEFR)= 0 (EERIER) 98,6771x1/2(B4HE)= 49, 000
&t 52,954,000 52,954 +H &t 53,312,000 53,312 FM 358 +H
B (RIRFRERR) 122,647,000 x 3/4 (BB =)= 91, 985, 250 B (RERFERRE) 122,112,800 % 3/4 (1B =) = 91, 584, 600
(RIEEXZIE) 105,904,000 % 1/4 (&8 =R) = 26, 476, 000 (RI&EXZIE) 103,395,801 x 1/4 (&EER)= 25, 848, 950
(REZIRHZFZR) 4,000x1/4(G1BFE)= 1,000 (REAFIRHFR)) 3,132,494 x1/4(E1E%E)= 783, 000
(ERTER) x1/4(B1EF)= 0 (ERIER) 98,677x1/4(B4HE)= 24,000
&t 118,462,000 118,462 +HM &t 118, 240,000 118,240 +H -222 +H

mH (—RFFREE)

F# 1IE BT fHIETR A IE&E
EBRLTE (RIRFRER) 122, 647,000 EBLE (RIRFER) 122,113,000 * -534 +H
AL E (RIREXE) 105, 904, 000 ERRE (RIREXE 103, 396, 000 * -2,508 FH
RIFRHFE 4, 000 RKAZRHFE 3,133,000 3,129 +H
FERTETR 0 ERTER 99, 000 29 +H
EHEF 81, 745, 000 EBEF 81,710, 000 -35 +H
HEBR-KE 18, 333, 000 HEFR-—KE 18, 333, 000 0F+H
BRZEEILXIE 8, 690, 000 HBRZREILXE 8,278, 542 -411 +H
Z D 473, 000, 000 Z Db 533,104, 199 60, 104 +H

&t 810, 323,000 810, 323 +H &t 870, 166, 741 870, 167 +HM 59, 844 +H




